
Word Problems

1) Pluto has 51 bones and Goofy has 7 bones. How many bones do they have in total?

2) Dexter has 25 beakers and Dee Dee has 34 beakers. How many beakers do they have in total?

3) Bugs Bunny has 51 carrots and finds 4 more. How many carrots does he have now?

4) The X-Men fought against 27 villains and defeated them all. Later they fought against 59
more villains. How many villains did the X-Men fight against in total?

5) Emily has 44 red apples and 2 green apples. How many apples does she have in total?

6) Scooby-Doo and the gang have 64 clues and then discover 81 more clues. How many clues
do they have in total now?

7) Pikachu had 22 berries and Ash gave him 31 more. How many berries does Pikachu have
now?



8) Johnny has 72 marbles and his friend gives him 1 more. How many marbles does Johnny
have now?

9) Captain America has 84 shields and he received 73 more as gifts. How many shields does he
have now?

10) Minnie Mouse has 97 bows and gets 94 more from Daisy. How many bows does Minnie
Mouse have now?

11) There are 52 birds on a tree branch and 88 more birds come to join them. How many birds
are on the branch in total?

12) Baloo has 52 bananas and Mowgli has 8 bananas. How many bananas do they have in total?

13) Hercules has 78 weights and Philoctetes has 7 weight. How much weights do they have in
total?

14) Johnny has 59 marbles and his friend gives him 42 more. How many marbles does Johnny
have now?

- - - - - - - - - - - - - - - - Fold or tear from here - - - - - - - - - - - - - - - -

Answers: 58, 59, 55, 86, 46, 145, 53, 73, 157, 191, 140, 60, 85, 101
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